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1. $He3C

(1) V/9x? +36x+36 —v4x? —8x+4 =3x+2-2x—1  @EHK, 2011 S0

=—x-8(x<-5) =5x+4 (-1<x<1)
The square root of nine x squared plus thirty-six x plus thirty-six minus the square
root of four x squared minus eight x plus four equals three times the absolute value
of x plus two minus two times the absolute value of x minus one equals
minus X minus eight, for x 1isless than minus five.

five x plus four, for x is between minus one and one.

(2) (BB REEH) . 2011 &)

Usv2 +7-35v2 -7 =2
The cube root of five times the square root of two, the radicand plus seven minus
the cube root of five times the square root of two, the radicand minus seven equals

two.

t oL L2 (mEkE 2012 g8)
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Four over one minus x to the four equals one over one minus x plus one over

one plus x plus two over one plus x squared.
(@ @’ +b’ =(axtb)a’Fab+b*) EEFIE x*+x’+1=(x"+x+D(x>—x+1)



- a cubed plus or minus b cubed equals a plus or minus b times a squared
minus or plusa b plus b squared, respectively.
+ x to the four plus x squared plus one equals x squared plus x plus one

times x squared minus x plus one. W T HAK)

2. BAf & A - A
O f(x+y) =3/ () xy>0 EEOFEE f(x),f(»),[(x+y)>0Tf(1)=2

DL (). f(%) kb, (RERA. 2011)

fof x plus y equalsthree fof x times fof y, x yoptional and real
number. fof x, fof y, f of x plusy positive respectively and that f

of one equals two. In this case, calculate f of two and f of three-seconds.
(2 x’-2x*-3x+10=0 (hik #2012 oE)

x cubed minus two x squared minus three x plus ten equals zero.
3 37" > (éj (Fh&JIR B - T 2012)

Three to the two x minus one is greater than one- ninths to the x.
@) log, 4%+1ogx 4450, (x>1) (GEBK BAEE 2012)

Log the base two of x over four to the three plus log the base x of four to the four
is greater than zero, for x 1is greater than one.
(B) 2x* +4xy+3y> +4x+5y—-4=0 ZOH xDLV S BHFEROMIL?
(AR 3Gk 2012)
Two x squared plusfour x yplusthree y squared plus four x plus five
y minus four equals zero. In thiscase, calculate the maximum value of x.
6) 4" —42"+97 23" <1 OLx, 2°+3 DLV S HEPHERD L,
GRAER - B(RH) 2012)
x ysatisfies “ Four to the x minus four times two to the x plus nine to
the y minus two times three to the y is less than or equal to minus one “

In this case, calculate the range that two to the x plus three to the y takes on.

3. K& FEH
D x4 27 <P+ 2y VBt 4?0y IREROER)
ZREMIE X (ZxA 2011)



The absolute value of x plus two times the absolute value of y is greater than
or equal to the square root of x squared plus ysquared and lessthan or equal
to the square root of five times the square root of x squared plus y squared, x
y optional real number. Prove this inequality.
) a,b,c,d,x 135K, WORFRZAEHE L, (FILRK TOHER) 2012)
(> +b* +1)x*> =2(ac+bd +Dx+c* +d*> +1>0
Prove the following inequality, where a,b,c,d,x real number respectively.
Parentheses a squared plus b squared plus one close parentheses times
x squared minus two times parentheses a ¢ plus b d plus one close
parentheses times x plus ¢ squared plus d squared plus one is greater

than or equal to zero.

4. HHEOE, “HEHEWITNAHAK)

n!
(n—r)!

The permutations n r equals » times # minus one times, and so on, times

(1) Pl=n(n-1)y + *«(n-r+1)=

n minus 7 plus one, equals n factorial over n» minus r» factorial.

P’ !
@ ¢r="r ="
rt o rl(n—-r)!

The combinations n r equals the permutations n r over r factorial, equals

n factorial over rfactorial times » minus » factorial.
®) (a+b)" =) Cla""b"
r=0

a plus b tothe n equals the sum from r equals zeroto n of the combinatios

n r times a tothe n minus r times b tothe r.
@ EX)=)x,p,
k=1

The expectations of X equals the sum from k& equalsoneto n of x sub &

times psub k.

5. —fitt, — AR

3.5 siny sinx Vs Vs T T
, ——+——=3 (-=<x<—, ——<y<—,
32 sinx siny 2 2 2 2
x#0, y20 ) Ol X, x+y OffizRkd L, (2011 KK PR - T - ZEfE T (12 4)

Sine cubed x plus sine cubed y equals three times the square root of five over

(1) sin’ x+sin’ y =

thirty-two, sine yover sine x plus sine x over sine ) equals three.



X , y lying between minus pi over twoand pi over two, respectively.

In this case, calculate the value of x plus y.

a b c

2 O—=—-=— @ a’>=b*>+c*>—2bccos 4
sm4d smB sinC
® sin?A+cos’A4=1 @sinA+sinB=ZSinA;BcosA;B

® S=4s(s—a)s-b)(s—c) AL s=(a+b+c))2

® asin@+bcos® =+a’> +b*sin(0 +a)

fHL sina = cosa = ~D~6 WIThbaz~

b e
Na® +b’ Na® +b’
(2) ® a oversine A equals b oversine B,equals ¢ oversine C.
@ a squared equals b squared plus ¢ squared minustwo b ¢ cosine 4.
@ Sine squared A plus cosine squared B equals one.
@ Sine A plus sine B equals two sine of 4 plus B over two times cosine of A4
minus B over two.
® S equals the square root of s timess minus a times s minus b times
sminus c¢,where s equals a plus b plus ¢ over two.
®a sine theta plus b cosine theta equals the square root of a squared plus b
squared times sine of theta plus alpha, where sine alpha equals b over the
square rootof a squared plus b squared and cosine alpha equals a over the

square rootof a squared plus b squared.
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